
MASS AND VOLUME FLOW RATES

The t of mass flowing through a cross section per unit time is 
called the mass flow rate and is denote 
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MASS AND VOLUME FLOW RATES

)/( skgAVm mρ=
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ρ=density of fluid , kg/m3 (=1/v)
Vn = mean fluid velocity normal to A, m/s
A = cross‐sectional area normal to flow direction m2A = cross‐sectional area normal to flow direction,m

The volume of the fluid flowing through a cross section per unit 
time is called the Volume flow rate
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The first law of thermodynamics

กฎขอที่หนึ่งของเทอรโมไดนามิกส    The first law 
็of thermodynamics ในระบบปดใดๆก็ตาม ถา

ระบบนั้นมีการทํางานครบวัฎจักร ผลรวมทางพีชคณิตของร บบนนมการทางานครบวฎจกร ผลรวมทางพชคณตของ

งานจะมีคาเทากบัผลรวมทางพีชคณิตของความรอน ดัง
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CONSERVATION OF MASS PRINCIPLE

มวลทีถ่ายเทหรอืรับจากระบบในชวงเกิดกระบวนการจากสภาวะที่1 ไปสภาวะที่2  
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CONSERVATION OF MASS PRINCIPLE

mmmm )( −=−∑∑
Mass balance for control volume
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เรียกสมการตอเนื่อง (Continuity  equation)
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Mass Balance for Steady‐Flow Processes
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Mass Balance for Steady‐Flow Processes

Steady Flow (single stream):

7
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Special Case: Incompressible Flow (ρ = constant)

Steady Incompressible Flow: 

i VV ∑∑
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Steady Incompressible Flow:
(single stream):(single stream): 

221121 AVAVVV =→=
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EXAMPLE 3‐12  Water Flow through  a Garden Hose Nozzle A 
garden hose attached with a nozzle is used to fill a 10‐gallon g g
bucket. The inner diameter of the hose is 2 cm, and it reduces 
to 0.8 cm at the nozzle exit(Fig.3‐46). If it takes 50s to fill the ( g )
bucket with water. Determine (a) the volume and mass flow 
rates of water through the hose, (b) the mean velocity of 
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FLOW WORK AND  THE ENERGY OF A FLOWING FLUID

PAF
Force applied on the fluid element

PAF =
Flow work

)(kJPVPALFLW flow ===

Flow work per unitmass

)/( kgkJPVw flow =
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Total Energy of a flowing Fluid

kkJVk
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Total energy of  a simple compressible system
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Total energy of  a flowing fluid on a unit‐mass basic
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Energy Transport by Mass

)(kJgZVhmmE ⎟
⎞

⎜
⎛ ++==

2

θ )(kJgZhmmEmass ⎟
⎠

⎜
⎝

++
2

θ

V ⎞⎛ 2

)(kWgZVhmmEmass ⎟
⎠
⎞

⎜
⎝
⎛ ++==

••

2

2

θ

ii
i

iiimassin mgzVhmE δδθ ∫∫ ⎟
⎠
⎞

⎜
⎝
⎛ ++==

2

2

,

mimi
∫∫ ⎠⎝ 2

by Aj.Sanchai Ramphueiphad ,Program  in  Air Conditioning & Refrigeration
Department of Mechanical Engineering  

www.arc.rmuti.ac.th;Email:acr501@gmail.com 13



EXAMPLE 3‐14 Steam is leaving a 4‐L pressure cooker whose operating 
pressure is 150 kPa (Fig. 3‐53). It is observed that the amount of liquid 

h k h d d b f h din the cooker has decreased by 0.6 L in 40 minutes after the steady 
operating conditions  are established, and the cross‐sectional area of 
the exit opening is mm2  Determine (a) the mass flow rate of thethe exit opening is mm . Determine (a) the mass flow rate of the 
steam and the exit velocity, (b) The total and flow energies of the 
steam per unit mass, and © the rate at which energy is leaving is the p gy g
cooker by steam.
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EXAMPLE 3‐14 

(b) Noting that h=u+Pv and that the kinetic and potential energies

(kJ/kg)... 91737251962693 =−=−== uhPve flow
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(c) Rate at which energy is leaving  the cooker
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PROBLEMS
3 21 During an expansion process the pressure of agas3‐21 During an expansion process, the pressure of agas
changes from 103 kPa to 689 kPa according to the
relation P=aV+b where a = 1230 kPa/m3 and b is arelation P=aV+b, where a = 1230 kPa/m3 and b is a
constant. If the initial volume of the gas is 0.198 m3

calaulate the work done during the process (186 9 kJ),calaulate the work done during the process. (186.9 kJ)

3‐95 Air at 4.18 kg/m3 enters a nozzle that has an inlet‐
to‐exit area ratio of 2:1 with a velocity of 120 m/s and
leaves with a velocity of 380 m/s . Determine the
density of air at the exit. (2.64 kg/m3)
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